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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2016 C L«X, 2017 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

T ˆTˆ›Ã^ Yy ( 3rd Paper : Sociological Thought ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) Y“G◊TˆÃ[˝ W˝ÁÃ[˝SÁ„Eı ÂEgıÁTˆ Â^\ˆÁ„[˝ [˝ÓÁFÓÁ Eı„Ã[˝‰ªK˜X TˆÁÃ[˝ 

AEı◊ªRÙO Y◊Ã[˝ªJÙÃ^ ◊VX* 

 (F) a]ÁLTˆ„√º¯Ã[˝ ◊[˝EıÁ`„Eı p˚ÁXV›◊äÃ[˝ V`ÔX ◊Eı\ˆÁ„[˝ 

Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝◊ªK˜_ ? %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (G) ªRÙOÓÁ_EıªRÙO YÁÃ[˝aXa Eı◊îTˆ a]ÁL [˝Ó[˝ÿöˆÁÃ[˝ È[˝◊`rÙÓm◊_ 

[˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) a LX`›_ \ˆÁÃ[˝aÁ]Óc˜›XTˆÁ [˝_„Tˆ ◊[˝XÃ^ aÃ[˝EıÁÃ[˝ ◊Eı 

[˝«◊Mı„Ã^‰ªK˜X ? %Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) W˝«L¤◊ªRÙOY“aÁV B◊Tˆ„c˜ÓÃ[˝ mÃ[˝”±ºˆ„Eı ◊Eı\ˆÁ„[˝ ÂV„F‰ªK˜X ? 

[˝ÓÁFÓÁ EıÃ[˝”X* 
(F) Â&XaÁ„Ã[˝Ã[˝ a]ÁLTˆ„√º¯¯ ÈL◊[˝Eı aÁV `Ó[˝ÁV ◊Eı\ˆÁ„[˝ 

[˝Ó[˝c˜÷Tˆ c˜„Ã^‰ªK˜ ? %Á„_ÁªJÙXÁ EıÃ[˝”X* 
(G) C„Ã^[˝Á„Ã[˝Ã[˝ ]„Tˆ %ÁV`Ô Ã[˝÷Y ◊Eı ? G„[˝bSÁ Yà˘◊Tˆ„Tˆ 

AÃ[˝ mÃ[˝”±ºˆ Eı› ? 
(H) ]›„QˆÃ[˝ %X«aÃ[˝„S %Á±¡ Tˆ„√º¯Ã[˝ CYÃ[˝ AEı◊ªRÙO ◊X[˝μ˘ 

◊_F«X* 
(I¯) U]Áa C p˚Á„Xc˜O◊ïıÃ[˝ "ÂYÁ◊_` ÂYLÓÁ≥RÙO'-AÃ[˝ ]…_ 

[˝N˛[˝Ó ◊X„LÃ[˝ \ˆÁbÁÃ^ ◊_F«X* 
(ªªJÙ˜) Ã[˝ÁW˝ÁEı]„_Ã[˝ a]ÁLV`Ô„X ]…_Ó„[˝Á„W˝Ã[˝ \…ˆ◊]EıÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) aÁ]Á◊LEı È[˝◊ªJÙ‰yÓÃ[˝ ◊\ˆTˆÃ[˝ ]‰≥RÙOï«ı ◊Eı\ˆÁ„[˝ aec˜◊TˆÃ[˝ 
aμ˘ÁX Eı„Ã[˝X ? 

(F) ◊\ˆ◊w¯ C =Y◊Ã[˝EıÁPˆÁ„]Á [˝_„Tˆ ]ÁEÔıa ◊Eı [˝«◊Mı„Ã^‰ªK˜X ? 
(G) Q«ˆFÔÁc˜O„]Ã[˝ ]„Tˆ ^Á◊‹óˆEı BEıÓ C ÈL[˝ BEıÓ ◊Eı ? 
(H) Ã[˝ÓÁQˆ◊zıZı-[˝–Á=„XÃ[˝ Tˆ√º¯„Eı "EıÁPˆÁ„]ÁGTˆ Eı]Ô◊X[˝ÔÁc˜› Tˆ√º¯' 

[˝_Á c˜Ã^ ÂEıX ? 
(I¯) %Á±¡VYÔS [˝_„Tˆ E«ı„_ ◊Eı [˝«◊Mı„Ã^‰ªK˜X ? 
(ªJÙ) ]TˆÁV`Ô C ÿëˆY¬Eıî„Eı ]ÓÁXc˜Ác˜O] ◊Eı\ˆÁ„[˝ [˝ÓÁFÓÁ  

Eı„Ã[˝X ? 
(ªK˜) ◊y‘Ã^Á[˝Á„VÃ[˝ ◊TˆX◊ªRÙO Â]Ï◊_Eı X›◊Tˆ„Eı ]ÁªRÙO¤X Â^\ˆÁ„[˝ 

a]Á„_ÁªJÙXÁ Eı„Ã[˝X TˆÁÃ[˝ AEı◊ªRÙO Y◊Ã[˝ªJÙÃ^ ◊VX* 
(L) ÿóˆ› ◊`l˘Á ◊[˝ÿôˆÁ„Ã[˝ ◊[˝VÓÁaÁGÃ[˝ ◊Eı\ˆÁ„[˝ %[˝VÁX Ã[˝Á„FX ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Give an account of the concept of progress 

as explained by Comte. 

(b) In which way did the philosophy of 

enlightenment influence the growth of 

sociology ? Explain. 

(c) Explain the features of social system as 

conceived by Talcott Parsons. 

(d) What does Benoy Sarkar understand by 

creative disequilibrium ? Discuss. 

2. Answer any three questions  : 12 × 3 = 36 

(a) How does Dhurjati Prasad perceive the 

importance of Tradition ? Explain.  

(b) How is organismic analogy used in 

Spencer's sociology ? Discuss.  

(c) What, according to Weber, is ideal type ? 

What is its significance in research   

method ? 

(d) Write an essay on 'self' after Mead. 

(e) Write in your own words the basic 

arguments contained in 'Polish Peasant' by 

Thomas and Znaniecki ? 

(f) Discuss the role of value in Radhakamal's 

social philosophy. 

3. Answer any four questions  : 6 × 4 = 24 

(a) In what way does Montesquieu search order 

out of social diversity ? 

(b) What does Marx understand by Base and 

Superstructure ? 

(c) What, according to Durkheim, are 

mechanical solidarity and organic  

solidarity ? 

(d) Why is Radcliffe-Brown's theory labelled as 

'structural functional theory' ? 

(e) What does Cooley mean by 'looking-glass 

self' ? 

(f) How does Mannheim explain Ideology and 

Utopia ? 

(g) Give an account of Merton's critique of 

three basic postulates of functionalism. 

(h) How does Vidyasagar contribute to the 

expansion of female education ? 

    


